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T ANTARETA Igeod afdcar g Safor fored|

(Read the following passage and answer the questions)
Areet: A = 38T @ 7 ey gAY Faafd) srar Afdcar aegiaa e som: | a9 3
forgra: Qema: o ¥: §FY TG-HF HUA| Aead: @ #7 Gead &A1 §: geralt s gafte: =
3Ted| Feet: FeT AY T |
* UhUcel 3ald (Answer in one word.)
(i) #Arged: T T b [ATTEIH ITTd:?
(ii) FAeet: g AT F Fergar HUfd?
* {Uﬁ?lﬁ-'aﬂ' 3dId (Answer in one line)
(iii) AeTET TIHTa: Hreen: 3ifEa?
* JUTAGRAHA, FTRA (FREMTER 371 §fSwl)
(iv) '3Tare u¢ b aeeis ?
() TgIIAH
(@) fgaaaH
(1) TehddeTH
(v) Aeed: FeT AYY defd’ 319 &: Hel 3fd?
(h) Her
(@) AP
(M Ja
(vi) WelTd: IS, & qRu:?
() TR
(T) ACTAYEY:
(97) SAAGRY:
oA 2 AFAfaflaresa: gicder FfoeT Aqdeniedr-2reare &car fer@d- (Separate the masculine, feminine and

neuter gender words from the given words.)
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g3 fRafor Tgar 3R d&pdaereg for@d-(Look at the pictures given below and write their names in

Sanskrit.)
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UHA-4 %IHQWGHI?[ foror aRader P (Change the gender of the given words.
(i) T

(ii) TuT

(iii) <PT:

(iv) &r

UH-5 TdhUcd 3add |(Tah Qg A 3R IfIT] )

UHA (i) G¥pd A dd fohdal TR & &I & ? 1H Idisy|
UA (i) DS al Ag-apiodl Aeg @] |

UH-6 HeIWH UH-

T:- i) T Sfaa & 39T ded & forw faar 3maas &
UH:-i1) o e o R #-

UH-7 HEpd A G Bell &b AH ford |

UH-8 HEPd # Hedig #Y ( Translate in sanskrit)

(i) I8 QAT ¥ |

(ii) @& Ard 2

(i) g forgd &

(iv) g @1d &?

(v) ¥ formar gl

UH -9 o Yrg & R R # ford |

UH-10 TEpad gear foad| dFpa e ford|

(i) 3

(ii) 9

(iii) 15

(iv) 17

(v) 19




w11 -rafafafestT: sRds sw Rear e -
(Choose the correct answer from the options given below.)

(1) T&pd AT I fhder o= @ &2

(i) T (ii) ar (iii) el

(2) aIfwa &-

(i) goa (i) e (iii) TrT

(3) T8yt e @1 fgaaar -

(i) TRIf&enT (ii) frf&Tes (iii) TRIT&TRH

(4) Tep: ereg 1 folar &-

(1) PRI Gioelar (ii) 3TTePRTeel Eifeiar (iif) 3TPRTec AGHTIT
(5) T: & -

(i) TeparT (i) Teeaa (iii) argerer=t



